

①

$$f \circ f\left(\frac{x}{2}\right) \rightarrow f\left(f\left(\frac{x}{2}\right)\right)$$

$$f\left(\frac{x}{2}\right) \rightarrow \cos \frac{\pi}{4} = \frac{\sqrt{2}}{2} \rightarrow f\left(\frac{\sqrt{2}}{2}\right) = \sqrt{\frac{\sqrt{2}}{2} + 1} = \sqrt{\frac{\sqrt{2} + 2}{2}} = \sqrt{2} = 2$$

$$f\left(\frac{1}{n}\right) = \sqrt{\frac{2n-1}{n^2}} \rightarrow f(n) = \sqrt{\frac{\frac{2}{n}-1}{\frac{1}{n^2}}} = \sqrt{\frac{\frac{2-n}{n}}{\frac{1}{n^2}}} = \sqrt{\frac{2-n}{n}} = f(n) \quad \text{الف) ②}$$

$$f(g(n)) = \Rightarrow g\left(\frac{x}{2}\right) = 2 \cos \frac{\pi}{4} = \frac{2}{\sqrt{2}} = \sqrt{2} \rightarrow f\left(\frac{1}{\sqrt{2}}\right) = \sqrt{1 - \frac{1}{\sqrt{2}}} = \left(\frac{\sqrt{2}-1}{2}\right)$$

$$f(g(\sqrt{2})) = \Rightarrow g(\sqrt{2}) = \frac{\sqrt{2}}{1-\sqrt{2}} \xrightarrow{\sqrt{2} \approx 1.41} \frac{1.41}{-0.41} = -\frac{1.41}{0.41} \approx -3.44$$

ب

$$f(-3.44) = [-3.44] = (-3.44)$$

$$g(f\left(\frac{x}{2}\right)) = \Rightarrow f\left(\frac{x}{2}\right) = \sin \frac{\pi}{4} = \frac{\sqrt{2}}{2} \rightarrow g\left(\frac{\sqrt{2}}{2}\right) = \frac{\sqrt{2}}{2} \sqrt{1 - \left(\frac{\sqrt{2}}{2}\right)^2} = \frac{\sqrt{2}}{2} \times \frac{1}{\sqrt{2}} = \left(\frac{1}{2}\right) \quad \text{③}$$

$$\text{الف) } f \circ g(n) \begin{cases} \textcircled{1} \rightarrow 2 \rightarrow \textcircled{5} \\ \textcircled{2} \rightarrow 4 \rightarrow \textcircled{5} \\ \textcircled{3} \rightarrow 8 \rightarrow \textcircled{12} \\ \textcircled{4} \rightarrow 16 \rightarrow \textcircled{12} \end{cases} \Rightarrow \{(1,5), (2,5), (3,12), (4,12)\} \quad \text{④}$$

$$\text{ب) } g \circ f(n) \begin{cases} 1 \rightarrow 5 \rightarrow x \\ 2 \rightarrow 4 \rightarrow x \\ 3 \rightarrow 8 \rightarrow x \\ 4 \rightarrow 16 \rightarrow x \end{cases} \Rightarrow \emptyset$$

$$\text{ج) } f \circ f(n) \begin{cases} 1 \rightarrow 5 \rightarrow x \\ 2 \rightarrow 4 \rightarrow x \\ 3 \rightarrow 8 \rightarrow x \\ 4 \rightarrow 16 \rightarrow x \end{cases} \Rightarrow \emptyset$$

$$\text{د) } g \circ g(n) \begin{cases} \textcircled{1} \rightarrow 2 \rightarrow \textcircled{1} \\ \textcircled{2} \rightarrow 4 \rightarrow \textcircled{2} \\ \textcircled{3} \rightarrow 8 \rightarrow \textcircled{4} \\ \textcircled{4} \rightarrow 16 \rightarrow x \end{cases} \Rightarrow \{(1,1), (2,2), (3,4)\}$$

باز هم $\underline{B}$

معین نمی

کتابخانه

$$\begin{aligned} \text{(I)} \quad D_{g \circ f} \\ \text{(II)} \quad D_{f \circ g} \end{aligned} \left\{ \begin{array}{l} \text{حباب} \\ \text{حباب} \end{array} \right.$$

$$D_{g \circ f} = \{x \in D_f : f(x) \in D_g\}$$

$$[-1, 1] \cap \mathbb{R}$$

$$D_{g \circ f} = [-1, 1]$$

$$\sqrt{1-x^2} \geq 0 \rightarrow \sqrt{\cdot} = \mathbb{R}$$

$$D_f = 1-x^2 \geq 0 \rightarrow D_f = [-1, 1]$$

$$D_g = x \geq 0 \rightarrow D_g = [0, +\infty)$$

$$D_{f \circ f} = \{x \in D_f : f(x) \in D_f\}$$

$$[-1, 1] \cap \mathbb{R}$$

$$D_{f \circ f} = [-1, 1]$$

$$-1 \leq \sqrt{1-x^2} \leq 1 \rightarrow \sqrt{1-x^2} \leq 1$$

$$1-x^2 \leq 1$$

$$-x^2 \leq 0 \rightarrow x^2 \geq 0$$

$$\Rightarrow I \cap \Pi = [-1, 1]$$

$$x = 2n+1 \rightarrow x = \frac{2n+1}{2} \rightarrow \dots$$

$$\text{الف) } f\left(\frac{3u+1}{u-2}\right) = 4u+5$$

$$\rightarrow \frac{3u+1}{u-2} = t \rightarrow u = \frac{t+1}{t-3}$$

(9)

$$\rightarrow u = \frac{t+1}{t-3}$$

$$\Rightarrow f(t) = \frac{1t+5}{t-3} + 5 \rightarrow \frac{1t+5+5t-15}{t-3} = \frac{13t-10}{t-3}$$

$$\Rightarrow f(u) = \frac{13u-10}{u-3}$$

$$\boxed{u + \frac{1}{u} = t} \rightarrow u^3 + \frac{1}{u^2} + 3u + \frac{3}{u}$$

$$\text{ب) } f\left(u + \frac{1}{u}\right) = u^3 + \frac{1}{u^3}$$

$$\rightarrow u^3 + \frac{1}{u^3} = \left(u + \frac{1}{u}\right)^3 - 3\left(u + \frac{1}{u}\right)$$

$$\Rightarrow f(t) = t^3 - 3t$$

$$u^3 + \frac{1}{u^3} = t^3 - 3t$$

$$\Rightarrow f(u) = u^3 - 3u$$

$$g(u) < \frac{1}{2\sqrt{2}}$$

$$u \xrightarrow{f(u)} 1 \xrightarrow{g(u)} 0$$

$$u' \xrightarrow{f(u)} 2\sqrt{2} \xrightarrow{g(u)} 0$$

$$\Rightarrow f(u) = u\sqrt{u} \begin{cases} u\sqrt{u} = 2\sqrt{2} \rightarrow \boxed{u=2} \\ u\sqrt{u} = 1 \rightarrow \boxed{u=1} \end{cases}$$

(10)

$$\Rightarrow \text{اگر به تابع } f(u) \text{، } \frac{1}{2\sqrt{2}} \text{ را بدهیم}$$

تابع معکوس

$$\Downarrow$$

$$2-1 = \textcircled{1}$$